There is a hallway with 50 switches numbered 1 to 50, which are all in the off position. 50 people pass down the hallway. The
first person flips every switch (turning them all on). The second person flips the switches whose numbers are a multiple of 2
(turning them off again). The third person flips the switches whose numbers are a multiple of 3 (turning some off and some on).
This continues until all 50 people pass through, the last one only flipping the 50th switch.

At the end, which lights are on, and which are off?
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